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The figures in the margin indicate full marks
for the questions

1. Answer the following as directed : 1x10=10
(a) Define a household.
“{fRAreTs FIRE fan |
(b) What is producer’s surplus?

Teomed Tge 57

(c) Mention one feature of capitalism.

WGEW@TWWI

(d) What do you mean by price rationing?
Price rationing it f& @12
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(-2)

(e) Define marginal productivity of labour.

1)

()

()

(i)

20A/575

*q 413 SeAMAAETOR A W |

Fill in the blank :
A1 3% EERIRSIE
MRPL =MPPL X -

For a Giffen good, income effect is

Giffen good-3 S 47 ¥4

(i) positive
LCINES
(i) negative
R RIS
(i) constant
&9
(iv) Both (i) and (i)
Ty (i) O (i)
(Choose the correct option)

(o Rescor Al Sfere )

Why is the average cost (AC) curve
U-shaped?

5% IR (AC) (341 U-Sgfeq 28 [ 2

Define opportunity cost.

el 7 ke i |

( Continued )

- 0)

(3)

How does technological innovation affect
the supply curve?

offese RFE@ @M Q@O P geiiie
FI?

. Write short answers of the following

questions : 2x5=10
©o 2PCIRA 5 Ted i

(@)

(b)

What is meant by property rights?
ofG 7eR & @ ?

If B=X-Py +Y- P, where B represents
money income of the consumer, Py and
P, represent prices of goods X and Y
respectively, find the slope of the
equation.

i B=X-Py+Y-B, T, ¥ B T4
SIS W, Py OF B ¥ T X |F Y

T W, SRR bre SR |

(c) State two exceptions to the law of
demand.
w2 Rk o1 fea for |

(d) Mention two government policies to
enhance competition in the market.
TaRe sl 3fa I o[ 1o el e
TCEY 40
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(e/foiitiouttbroctanacten stcsioflaboyr. (d) What is cross-elasticity of demand? How
aarker do you infer about the nature of two
e goods on the basis of cross-elasticity of
2 @l ferat 1 demand? 2+3=5
sfvR e Rfvgeee 62 R fofe
3. Answer any four of the following questions : feforrror fefee Eﬁ R 3o fenes SeEm
5x4=20 , 312

T 2NERA T Gl BifReE e ford

(e) Explain how an income-consumption

(a) Discuss the basic economic problems cutve of a comsumer consuming two

faced by an economy. 5 products is derived. 5
WO AER Teice W TSl & -
@ wAfe 9 P FLASF T BogsI @41 R et <91 2, I <0
oA <41 |
) i () Explain the various factors responsible
() Bne_ﬂ_\,f explain ~ the principle of for the shift in the demand curve of an
diminishing marginal rate of individual consumer. 5
substitution. What role does it play in
shaping indifference curves? 3+9=5 Tfefiom TAoreR vIRA QX1 EFARRS

RS s T 91 |

TEPHE Afesee Afed 29 MM w3t wm
| e @3 oo e 2 R s gz 4. Answer the following questions : 10x4=40

$E?
weR 2R Teq o
(c) Distinguish between bar diagram and (a) Discuss the scope of Economics. State
histogram. = the basic assumptions of Economics.
i 6+4=10
T 159 He
W4 AN et 4 | SeREFE AR el ¥4 | SREEE T

SRS &0 1
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(b)

()

20A/575

(6)

Or / &2A4]
Critically discuss the marginal
productivity theory of labour. 10

M9 AfFe SeAmENeTel gl FNICEDANE Il
HI9RCEAT |

Explain the behaviour of a profit
maximizing firm in the short-run. 10

ZEFE WIS G e NI AP
SR T 41 |

Or / 91

Distinguish between direct tax and
indirect tax. Show the impact of
imposition of a sales tax on market
equilibrium. 4+6=10

ASPF 4 HE E@H IR LT forar | e
SRR 874 R 99 S 4/ (rge |

Explain how price effect of change in
price of a good can be decomposed into
income effect and substitution effect. 10

9l ¥R 74 S T\ RAR v sy R
e Afossm Reree Sa #1fR, @ 54|

( Continued )

@
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(7))

Or / 3341

Show the trade-off between work and
leisure at different levels of wage rates.
Why is the labour supply curve backward
bending? '

iy g e o U R @eiRe
STl | 2R @I @91 e sTeer e ?

Show that average cost is the
combination of average fixed cost and
average variable cost. Write a note on the
slope of the average variable cost curve.
Also explain the relationship between
average cost and average variable cost

4+3+3=10

curves.

(e @ T I TA TS T T o o1
JAfRgSANE IR @SFE | TS RIS I
@A TN eo[e «ft Gl fERT 1 e IR S
57G ARSI I @IR OIS I F1 |

Or / 91

Discuss the rationale behind regulation
of monopoly practices. What role do
antitrust policies play in monopoly
regulation?

oo T gt IR Jfegeel ScEwl
41 aIofen e s wE-Ra@
Torreared 6 pfiet o 2

* &k K

6+4=10

7+3=10
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